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Q1. U sAfad fag A | afeiur fa=m &t oiR Ie= 3Ry Hear g1 10 Wt gaq & d1¢, 98
3 R geaT § ok 5 M gaar 21 R g 9 iR gear @ ok s M aerar 81 fpe a8
ORI [ 3R YT € 3R 3 /Y Tarar 8 3R fig B R F&var g1 39F URMY® g &
e o, Iuer sifaw fig forw famm & @ o sifaw fag a@ =aw g3t fhat 82

(a) 10 Tt afém

(b) 15 W ITR-T4

(c) 1751 Gf&or-ufgs

(d) 137 gfermor

(e) 184t TfgH
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Q2.2M@R D, SR FH YA A g1 €TaR B, €MAR D & SR A g1 ST’ H, TTaR B & Sfémur A
APIDF I ATI TR FA TR H frafezma g

(d) 3™

(e) FRefRa &Y forar s gpar §
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Q3. U% e fig P T TaAT IRY HaT 8, SR B 3MR 5 Hiex T 8, fbe a1 gaar

%aﬁuo Hex 9% gadr 3| fibe 98 9 ok goar 8 ik 14 Wt garar 8 o fh ag
gedT g 3R 7 Hiex Iadr 8, I9P q1¢ 3id § 98 91¢ gsdT 8 3R fag Q a& ug=A

%msﬁamélmﬁgpwu@%%mﬁﬁmaaﬁvm

= A g @nfge?

(a) 5 |1, afgm

(b) 7 1, SIR-T&

(c) 6

(d) 5 1, IWR-T4

(e) 5 I, Gl&moT-ufgm
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Direction (4-5): R TF®R! &1 AMYd® 3reaa ST 3R sl & IR



g fig X T U I 3RY HRT &, 98 8 Ht Yd fo=n # oIaran §, SU& §Ig g 90-f&ih
TSI B s DI AR G- & G3d1 ¢ 3R g Y R Uga & faw 6 M gaar g1 fig v 9,
Jg 30 g1 3T § 3R fdg Z R Uge & foe 10 W 9adl g

Q4. fiig X MR ¥ & el <gaw gt it 82
(a) 8 Tt

(b) 10 Ht

(c) 12 |

(d) 15 9t

(e) 3719 | 1S T
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Q5. fiig x & fdig z o Wga a1 09 B1 T o gl fova-it 82
(a) 22 W

(b) 24 Ht

(c) 20 |

(d) 30 #t

(e) 18 W
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Directions (6-8):'&“%%3&@3@'&“3{[%%

313 fdd Y THR WS g [ C, B I UlFH &1 3R 20 {1 g W 7, B, A F T & 30 7t
e 3t 3R B1 A, E & gy T 40 1 uf¥m &Y 3R 81 D, E & W<y & 50 it <féror
ARBIF,GATRBI AR IEM P QI REIH, GH IeH H 20 gd &1 IR BIF, D
& g F 40 Tt ufdy Y 3R B

Q6. F P HeH # B g # A frw feam A @ws1 8~
(a) STR-UIEH

(b) 3R

() SW-Jd

(d) Feifed &t fopar <1 T&ar

() T 9§ BIS el
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Q7. 9fe T 3R aufedd 1, D & F<H A Sfémr-ufdm R Ft iR @e1 8, af | FHeH #,
H fra fean A @sT 82

(a) GlaTOT-Uigm
(b) ITR-Td




(c) SR-ufgH

(d) PrefRa 2T febam < wepa
(e) 19 ¥ PIE T
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Q8. H& e A c frafeama g2
(a) STR-UgH

(b) S

(c) Uf3 g

(d) i =161 fasar S e

(e) 59 | IS Tel
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aD;rectlon (9-10)-ﬁyﬁrﬁaaﬂ$ﬁmm@$amﬂaﬂﬁﬁeﬁ?=ﬁ%ﬁqwmﬁ
I difere.

A g X T IR G0 T 3R SU-T I = o3l & 37 P g8 a8 HRA & 9IG 98 fag O
IR Ugadl ¢ fR 98t ¥ 98 Tl gadi § 9afe B, fog v I afémr = @1 iR st amn
3RY &l & 3T BT g 0 I & 9IG 98 < GSdl 8. d 30+ a¥ e+ & 9Ig I
g8 T FA & TIe foig z R Had €. xﬁvv%nwﬁgﬂlorﬂ%

Q9. fdg z 3k 0 & we Y gt fpait 82
(a) 7 |t

(b)9 Ht

(c) 4 Ht

(d) 10 |t

(e) TH q PIg el
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Q10.afe fig v, fig z 3R fig 0 & A FEl (somewhere) B, A fig ¥ F AU #, fag
V BT RITH T 82

(a) 3

(b) Glaror-ufgs

(©c<hkogd

(d) T8 9 DI T

() Td
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Dlrectlons (11-14): FFafafRd SHeR! &1 aFyde sroa i ok i few e
& IR difvre|

3rorg fag Y T SO am Y& d)%dl%ﬁﬁTlotﬁETaﬂﬂT%@ﬁTﬁ@XWqEﬂﬁT%Iﬁgx
Y 98 &A1Y 431 § MR 15 Hlex gd {1 1 SR Fefell 8 3R TP I W Ugddl ¢ R fdig
Y & go o 99 IR gd o # § 9k O19 98 g9 W UgadT § df UTh 3% i 3R §
aﬁvg&@vwwﬁrm%@vww&@ﬁﬁ%mﬁw%@ 10 e &I g
=R Bl

Q11.fdg v T 3P W &} =gaw gt fhat 87
(a) 27 |

(b) V726 4t

(c) 25v13 |

(d) 5v29 |

(e) TTH U P13 &
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Q12. fag x & e o utd frw ez & 87
(a) af&or

(b) GlémoT-ufgm

() 3™

(d) FR-gd

(e) &féor-gd
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Q13.fdg v 3R Ut & g @1 gt fparit g7
(a) 25 |

(b) 20 |

(c) 15 HI

(d) 10 &t

(e) 3719 & 1S T
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Q14. fiig X A @1 W frat gr ok fpw fezm & 37
(a) 25 A1 Q&

(b) 10 |1 UfgH

(c) 20 Ht gd

(d) 15 Hi ufgy




(e) 19 ¥ P T
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Qis.fagp, figodyddg MgomfigTHrIwAgIfag T, gy Fqd A 31 g
Y%Wﬁﬁ,ﬁgpm%mﬁ@m%

(a) STR-UEH

(b) Gi&oT-ufgm

() SR-gd

(d) eféor-gd

() qd
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Solutions

S1. Ans.(c)
Sol.

S3. Ans.(d)
Sol.



10m

S5m

14m P

5m

7m

Solution (4-5):
Sol.

Z 10m Y

6m

X sa
S4. Ans.(b)
S5. Ans.(b)

Solutions (6-8):
A E N
40m o NE

30m
20mB 50m W E

E 40m D SW SE
15m 8

Go—H

Sol. 20m

S6. Ans.(b)
Sol. B is standing in North direction with respect to F.

S7.Ans.(d)
As total distance between I and D is not given, so the position of H with respect of I cannot
be determined.

S8. Ans.(a)
Cis in the North-West direction from H.

Solution (9-10):



S9. Ans.(c)
S10. Ans.(b)

Solution (11-14):

|Fn otball Club |

10m

T one ]
N/

10m

10m

Y | Park |
S11. Ans(d)
=1/252 + 102=5v29
S12. Ans(e)
S13. Ans(c)
S14. Ans(a)
S15. Ans(c)
Sol.
Q—pP

Y



